pll iy - 3 & 3 A
IS ) Ay pial) S1USY) Ay S 1 oy pyled e
e 95}3\3‘;)“21\

C ds¥) O el )

48y Glelaadl caal -

—2x(-34) ; —2x(-34) ; —47x(-1); —11x8 ; -15x(-4) ; 7x(-5) ; 4x12

0x(-19) ; —2x(-34) ; —1x(~658) ; —100x548 ; 05x(-13) ; 4x(-9) ; —14x3

(@Lﬂ\@ﬂ\)

> ~15+(-10) ; 125+(-5) ; 84x12

. 1210 ; -100+(-25) ; 0_151 ; 4_81

(&d&\wﬁm)

+ Sl Jgasll acil -

: 0+3

a(-5) | —5ab
—4b

(eu\gﬂﬁm)

s b=—4 ; a=-1 :0llle-

; —b+(=d) ; d(-a) :wwal

(uulﬂ‘ wﬂ‘)

: :\Tﬂ\ﬂ\ J..g._ﬂ.aﬂ\ L_m;\ -

C=9841,12x(~93,541)x(—0)x361 ¢ B=6,45x(-1)x(~100)x7 ¢ A=5x(~15)x(-20)
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